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When relevant, answers should refer to case studies or examples, and where appropriate include
well-drawn maps or diagrams.

Option A — Freshwater
Answer the following question.

1.  The graph shows the projected change in water availability in selected African countries
between 1990 and 2025.
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(a) (i) State which country's water availability has decreased the most between

1990 and 2025. [1]
(i) Identify which country's water availability decreased by approximately
1500 m®/person/year between 1990 and 2025. [1]
(b) Outline one possible physical cause for water scarcity in regions such as these. [2]
(c) Explain two reasons for the growing human pressure on lakes. [3 + 3]

(Option A continues on the following page)




(Option A continued)
Answer either part (a) or part (b).

Either

2. (a) Examine the role of the processes of river erosion and deposition in the formation of

meanders and floodplains. 110]

Or

A (b) Examine the role of local com{%unities In managing access to clean and sustainable

water supplies. [10]

End of Option A




Option B — Oceans and coastal margins
Answer the following question.
3. Refer to the graph on page 2 of the accompanying resource booklet.
The graph shows the percentage of coral reefs destroyed since 2000.
(@) (i) Identify the area with the greatest percentage of destroyed coral reefs. [1]

(i)  Estimate the percentage.pf coral reefs destroyed in the Caribbean and

Atlantic Ocean. [1]

(b) Outline one human activity responsible for the decline in coral reefs. [2]
(c) (i) Explain one climatic impact of a La Nina event. [3]
(i) Explain one economic impact of a La Nina event. [3]

Answer either part (a) or part (b).
Either

4. (a) Evaluate the effectiveness of strategies to manage oil and plastic waste poliution In
the oceans. [10]




Atlantic Ocea'n. ‘ [1]

(b) Outline one human activity responsible for the decline in coral reefs. [2]
(c) (i) Explain one climatic impact of a La Nina event. [3]
(i) Explain one economic impact of a La Nina event. [3]

Answer either part (a) or part (b).
Either

4. (@) Evaluate the effectiveness of strategies to manage oil and plastic waste pollution in
the oceans. [10]

Or

4, (b) Examine why conflicts between commercial development and conservation measures
at coastlines may be difficult to resolve. (10]

End of Option B




Option B — Oceans and coastal margins

3. The graph shows the percentage of coral reefs destroyed since 2000.
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Option C — Extreme environments
Answer the following question.
5. Refer to the map on page 3 of the accompanying resource booklet.

The map shows the land use of plots in a few villages in a hot, arid area in Northern Senegal.

(@) (i) Identify the main land use in the village of Widou Thiengoly. [1]
(i)  State the direction from the communal garden in Tessekere to the communal

garden in Koyli Alpha. &, [1]

(b) Outline one way in which water might be obtained from the water points. [2]

(c) Explain how Increasing tourism in hot, arid environments may lead to.
() one positive economic impact; [3]

()  one negative environmental impact. 13]

Answer either part (a) or part (b).

Either
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Option C — Extreme environments
Answer the following question.
5. Refer to the map on page 3 of the accompanying resource booklet.

The map shows the land use of plots in a few villages in a hot, arid area in Northern Senegal.

(a@a) (i) |dentify the main land use in the village of Widou Thiengoly. [1]
()  State the direction from the communal garden in Tessekere to the communal

garden in Koyli Alpha. [1]

(b) Outline one way in which water might be obtained from the water points. [2]

(c) EXxplain how Increasing tourism in hot, arid environments may lead to.
() one positive economic impact; [3]

() one negative environmental impact. [3]

Answer either part (a) or part (b).

Either
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garden in Koyli Alpha. [1]

(b) Outline one way in which water might be obtained from the water points. [2]
(c) Explain how increasing tourism in hot, arid environments may lead to.

() one positive economic impact; [3]

(1) one negative environmental impact. [3]

Answer either part (a) or part (b).
Either

6. (a) Examine the role of freeze-thaw and solifluction in the formation of periglacial
landscape features. [10]

Or

6. (b) Examine the opportunities and challenges of using new technologies for sustainable
development in one or more extreme environments. [10]

End of Option C
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9. The map shows the land use of plots in a few_ villages in a hot, arid area in Northern Senegal.
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Option D — Geophysical hazards
Answer the following question.
7. Refer to the diagram on page 5 of the accompanying resource booklet.

The diagram shows the effects on a settiement of liquefaction caused by an earthquake.

(@) (i) Identify one effect of liquefaction on this settlement. [1]
(i) Identify one effect of liguefaction on the physical geography of the area. [1]
(b) Outline one adaptation strateg?*that could be used where liquefaction occurs. 2]

(c) Explain how the hazard risk from volcanic eruptions might be affected by:
(i) one demographic characteristic of the population; [3]
(i) one economic characteristic of the population. [3]
Answer either part (a) or part (b).
Either

8. (@) Examine the relationship between plate margin movements and the characteristics and
distribution of earthquakes. [10]




(c) Explain how the hazard risk from volcanic eruptions might be affected by:
(i) one demographic characteristic of the population; [3]
() one economic characteristic of the population. [3]
Answer either part (a) or part (D).
Either

8. (a) Examine the relationship between plate margin movements and the characteristics and
distribution of earthquakes. [10]

Or

8. (b) Evaluate the effectiveness of pre-event management strategies in reducing human
vulnerability to earthquake hazards. (10]

End of Option D




Option D — Geophysical hazards

7. The diagram shows the effects on a settlement of liguefaction caused by an earthquake.
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Option E — Leisure, tourism and sport
Answer the following question.
9. Refer to the map on page 6 of the accompanying resource booklet.

The map shows part of the Sagarmatha National Park in Nepal. The scale is 1:50000 and
the contour interval is 40 metres.

(@) (i) State the latitude of the hotel at Phunki Tenga (point A). [1]

(i) State the altitude gain, in metres, walking from the spot height near Phunki Tenga
(point A) to the spot height near Pangboche (point B). [1]

(b) Outline one possible human problem caused by the large number of hotels in this area. [2]
(c) (1) Explain one political reason for the growing importance of the Paralympic Games. [3]
(i) Explain one cultural reason for the growing importance of the Paralympic Games. [3]
Answer either part (a) or part (b).
Either

10. (a) Examine the role of movie location and/or heritage tourism as part of a niche national
tourism strategy. [10]




(b) Outline one possible human problem caused by the large number of hotels in this area.  [2]
(c) (1) Explain one political reason for the growing importance of the Paralympic Games. [3]

(i) Explain one cultural reason for the growing importance of the Paralympic Games. [3]

Answer either part (a) or part (b).

10.

10.

Either
(a) Examine the role of movie location and/or heritage tourism as part of a niche national

tourism strategy. [10]
Or o,

(b) Examine the relative importance of human and physical factors in the growth of
tourism hotspots. [10]

End of Option E




- = - . amal Tha arnals ie 1+E0N NON anA
The map shows part of the Sagarmatha National Park in Nepal. The scale is 1:50 000 and
the conto rlrWﬂrvarlaaﬂ]ri&:rES
1 "t-. - ™
u"‘. ', 'll
Dole |\ Shomare
= 4 s 4010 .-
v o L ¥alll | : . Tabocthe - > S
a ||II ! ‘|1 E thrka f-.- #
I.. " Jr_' J...
! ".,. i"_"" ' r'
3 s ¢/ . Kohanar . .
‘., \ Tt ‘!_____,-' / Phusar Kharka o Chihpiy
s ‘ulang ‘. (Konar) | '.
'_,‘ | .:r‘ ] 4'[]45 ’f.p:.'i
'- JII.--" *angiroche Gampa .% ; !
- | i - ] _"
“-. Tquer Fal 1 PEHQEDCI’]E "'"7“ e’ -ﬁ'
Tenga S 3930, -2 n n
(Togba) % \ = B
» 3950 ‘.ﬁ.." e ‘1 F ”Hﬁh nﬂ'ﬂf Mﬂﬂii. Hh] C horlten i"r
W % -
P ST " \ Blue Sheop m.g;h‘lmnii Rl T ‘, l l-f’.ann I.Anhwaw
* / " -t +"Yaral
; A ' l :h,_ .
| 45 g '
- Phortse Tenga "y S ‘-‘-“E"H:“E-- X -
| . AET0. ¢ ,L . et ¥ . Omaga
. | - S — L
~' S E Nty B 3 h ‘ Mlllnglgo
| lI.ir |'. - :- : e Tl'il.l'h-“- \‘ 'r LS -.j_': ‘.
! -Ff | L 7 Lo Vartyean? - _ "'!f' ?h‘ 3?5”] .
’ Phortse ' "Changme Teng
Py 3810 . Latho Kharke _» = 4 "
/ » . y 3 lDubuche
wr N o -.
i * 3720 Makivung
’ Birthplace ol Pl . ‘,: 1 G:}ih" ]
Lama Sanga Dorja Yell Artifacts 7 S00Ng Steps

&

I ~ie ol “1

=

¢ ®Mong

'-: Selawa Jamcl_.l_n_fgg_!-_ hark
s f | Tesing - r_,-"' Soso Kharka
" = (Teshinga = EA

i

T‘.."ghu_-_l-ru I.IH_.“.'L.L-IL”? ,' Hhﬂﬂﬂdﬁ”iliﬂll .,
- Forant
. i u ~: .

TENGBOCHE 2
HEA (THYANGBOCHE)
+3860

Hoa lth Poat with
righy Altituae

3 ™

GAMOW Bag

Cis W .
FIZM NUTRSTY

- _N




Ahodandron Foceet

5 4 :
Al "
Phortse Tengas< / PN

= * 3630/ g

| .- e o
| Phortse
s « 1810 _

f o Bhrthpdede of

.i-l..d_'.:i'- =T =R Burniis
L Mong

L

selawa
. 1 i
W /(Teshinga  BA
! Losasa) = -
\ »338p' ) 7
Chipctio ': o it

+ 3250

. .-' ™
g fwmeas” Elise Pins
- ]

o | i | Farast

= ']

X ? Halims
'JKyangjuios
((Heajama)

' @ 3250
§
]

. / «3550

J:imﬂ:li‘l_j'g.g_t‘r T3 -

Phu"hl Tengﬂ L : blat sl Pacd

g The map shows part of the Sagarmatha National Park in Nepal The scale is 1:50 OUQ at
ne contour interval JIMEUE
5 l"-
‘-\..‘. ! ‘l
_l,-"“ D'D E' . Il-.
~muol : \
5 _‘__.: el M) | : ImBoche
— 1" ,' ] - H'Iailfhﬂ
\ - % 43
= [ i HKohanar Phusar Knarks
¢ Thulang ;" [(Konar)
) | .t > AD4E v
# L o
\ - Pyl Eag |'.:'.n.':=.p_rl .{{" :
a..._‘ [ = b o = r.l o | ; ‘J' l.
E Irll.:lt'-": = ak |1 F'dl.luh..ll...urlﬁ b.-:hl
ienga &, | .393.1,,-,-,1-,_-,_.*:'?6'
(Togba) ‘... A e B -
L] .-3.35n Ii (e "'. -.'I ) I'.I--. *ﬁﬁlﬁi\ D‘L'.:.“ MQJIHL E”.': CJ'-.'.-'I“.:‘” ‘-II; = .
& .4 N il =

Blue Sresp mghiing "

y I  Kanl {Amlbiwey
- -
’.‘ B -J- — -
L - - 2 e
# o
[

LY -
Chamgme_." ';‘
8 /i i ‘" Omaga
& J =2 =
ey / « Milinggo
- . - . i _.' ! B
ul1:|lrzlra "o es ST - : P '=. ST
. y # “Changme Teng
Latho Kharke A e
\ : o lﬂahuc:he
_," = 3T40 el T E

" Stone Slops B wing]

] " » ™ - -
&0 AMMTTDTS

>
; i ssdoclamoiion -
wrigterd e e wia ¥’ Rhodode =

-

Foxiwmd
; TENGBOCHE |
BEA (THYANGBOCHE) i
+ 3860 Haaih Post with

s e

A METN Hap

Hursary

«“Yaral

W -:|,'|| T




e 5093

Main walking route
Spot height in metres
Peak, Pass
Settlement
Cultivation, Forest

Vigitor centre




Visitor centre
[l Checkpoint

) Post office

[£) Health post

A Campsite

# 2 4 Temple, Monastery, Chorten

C.ave \Waterfall




Campsite
Temple, Monastery, Chorten

Cave, Waterfall

Hot spring
SNSRI
Contour Interval 40 melres
1 0 1 2 3 4 km
= —————— S—

Scale 1:50 000



Option F — Food and health

Answer the following question.

11. The Venn diagram shows how different types of food production can be classified into urban,
indoor and vertical categories.
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Vertical

(@) (i) State the type of food production that is found in all three categories.
(i) Identify the categories in which rooftop greenhouses are found.
(b) Outline one disadvantage of vertical farming for farmers.

(c) (i) Explain how one physical factor can lead to a change in food production
over time.

(i)  Explain how one human factor can lead to a change in food consumption
over time.

Option F continues on the following page)



(Option F continued)

Answer either part (a) or part (b).

Either
12. (a) Examine the relative importance of different geographic factors contributing to the
diffusion of one or more vector-borne diseases. [10]
Or
12. (b) Evaluate possible solutions to thg problem of food insecurity. [10]

End of Option F



Option G — Urban environments

Answer the following question.

13. The diagram shows the idea of the 15-minute city, in which most essential destinations are
within a 15-minute travel time (walking or cycling) from home.
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(@) (i) Estimate the percentage of citizens who are more than 15 minutes travel from
their essential destinations.

(i) State the average travel time, in minutes, to reach the six types of
essential destination.

(b) Outline one way in which becoming a 15-minute city could help reduce a city's
ecological footprint.

(c) Explain how the pattern of urban residential areas can be affected by:
() one physical factor;
(1) one human factor.

(Option G continues on the following page)
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[1]

2]

3]
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(Option G continued)
Answer either part (a) or part (b).
Either

14. (a) Examine the strengths and weaknesses of strategies to reduce air pollution in
one or more urban areas. [10]

Or

14. (b) Examine the role of economic and demographic processes contributing to
inner-city gentrification. [10]

End of Option G



